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Grade 5
Maths Multi step Word Problem

Sheila has to make a mixed fruit juice jar for her entire family. She needs a total of 76 
fruits out of which 10 are bananas , 18 oranges ,  22 strawberry , 6 pears  
and 20 mangoes .

1.	 The ratio of oranges to banana is?�

2.	 The ratio of orange to strawberry is?�

3.	 The ratio of orange to pear is?�

4.	 The ratio of pear to mango is?�

5.	 The ratio of mangoes to orange is?�

6.	 The ratio of pear and mangoes in the mixed fruit juice is?�

7.	 Which fruit has the least ratio in the juice?�


